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<: S A :) suggestion ¢t
comic book 73}
business card 3t
ZA % glo] AL =23}, - - = =
M[?G ]j ]ft%” g I:T}h‘ | 4 (BAE] 29 999 90 A3E Gea.
: Good afternoon, everybody. is is Studen ; ;
W: Yesterday, I d ted fish tank lik
President Sam Wilson. As you know, the lunch bes ir a ecorated my st tani fke - a
. . each.
basketball league will begin soon. Many o . .
. . M: I'd like to see it. Do you have a picture?
students are interested in joining the league ) .
. . W: Sure. Here. /Pause/ Do you recognize the boat
and waiting for the sign-up sheet to be handed .
. , in the bottom left corner?
out at the gym. For easier access, weve , .
. . . M: Yes. It's the one I gave you, isn't it?
decided to change the registration method. . . . ,
. . W: Right. It looks good in the fish tank, doesn't
Instead of going to the gym to register, .
it?
simply log into the school website and fill out L.
. . . M: It does. I love the beach chair in the center.
the registration form online. Thank you for . o
listening and let’s have a good league W Yeah. 1 like it, too.
i i \Y ue. . .
- o;i £ £ M: I see a starfish next to the chair.
gyn.1 XﬂI.TL e W: Isn’t it cute? And do you see these two surf
registration = boards on the right side of the picture?
2. [2AYE] feAe AL 22T} MZ@%.NkemwywpmbmhdtMmSMew
W: Daniel, what are you domg in front of the side. )
) W: I thought that'd look cool.
mirror? . T
M: T have skin problems these days. I'm trying to M: Ygur .ﬁSh in the top left corner looks happy
. with its new home.
pop these pimples on my face. .
W: Pimples are really annoying, but I wouldn’t do W: 1 hope so.
that. decorate 72]3}t}t
M: Why not? fish tank ©]3t
W: When you pop them with your hands, you're recognize ¥opxtzith
touching your face. starfish &7}
M: A ing that I shouldn’t touch face? e
. re you saying that I shouldn’t touch my ac.e 5. [2AGE] daA7t & 98 =g}
W: Exactly. You know our hands are covered with
L. [Cell phone rings.]
bacteria, right? y 7
M: So? M: Hello, honey. I'm on the way home. How's
. . . y . . P
W: You'll be spreading bacteria all over your face setting up M1k§ s birthday party going: )
. . W: Good, but I still have stuff to do. Mike and
with your hands. It could worsen your skin T ;
his friends will get here soon.
problerms. M: Should T pick up the birthday cake?
M: Oh, I didn't know that. W'_ . Ouh ]pmk upI e1 “;1 ;Z Cﬁ e
W: Touching your face with your hands is bad for - No, that's okay. [ already did that.
vour skin M: Then, do you want me to put up the balloons
’ ?
M: Okay, I got it. %round the doorvYay when I get there?
e} W: T'll take care of it. Can you take the table out
pop ce to the front yard?
pimple B M: Sure. Are we having the party outside?
annoying A3 AEe)= W: Yes. The weather is beautiful so I made a last
bacteria E}Eﬂgqo} minute change.
spread ¥|r=e|ch M: Great. The kids can play with water guns in
3. [BAE] 5 #AE FEL . the front yard.
M: Excuse me. You're Chloe Jones, aren’t you? W: Good idea. Tl go to the garage and grab the
W: Yes, I am. Have we met before? water guns.
=]
M: No, but I'm a big fan of yours. I've watched doorway @, w3t
your speeches on climate change, and they're garage Abil
very inspiring. [EAYE] $48 st
W Thank you. Im. so glad to heaT that. . W: Welcome to Green Eco Shop. How can I help
M: And, I also think your campaign about plastic
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you?






